N = 0l & At & Ml A

20198 = =0la F=XE SE3H N
2N DS
3 nsdd N
Pl RXAL BB U EMNEAM LY(EXNE SEEI) (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
nsdF 10,382,022 10,097,043 284,979
nSdEE Mo 9,481,792 9,252,271 229,521
=IAE &5 2 =XNHEN EY(FUHE SEIAH) 9,403,796 9,231,669 172,127
SEFIE =2 £ 2el 541,374 489,852 51,522
101 @12 bl 45,407 36,435 8,972
04 DIt 22 XS+ 45,407 36,435 8,972
OEX+HEE SEFUHY =22 25,690
=32 72,1603 x1H +2502 18,040
-=252+9 72,1603 x1H «652 4,691
-SUALEEREES 22,730,400 %3.23% 735
-SRI EERES 22,730,4003 *4.5% 1,023
-IE22EREs 22,730,400& *1.5% 341
“MHEERES 22,730,400 +0.9% 205
LA QYPEREES 734,200 7 .38% 55
-SXNZEE 300,000& 1 300
-EE240= 300,000& 1 *12 300
OFHANEESF=XUE 28Ex 19,717
-Jles 72,1602 x1E 1902 13,711
-RE52+4 72,1603 x1H 502 3,608
-SUAIEEREES 17,318,400 *3.23% 560
-SRASEERES 17,318,400& »4.5% 780
-NEEERES 17,318,400 *1.5% 260
-MHEERES 17,318,400& »0.9% 156
- FIRLEERES 559, 380& 7. 38% 42
-SANZEE 300,000& =1 300
-YE Y0 300,000& 1 %13 300
201 fEt2E | 20,541 22,041 A 1,500
01 AtR 2t 2l | 17,877 19,377 A 1,500
OFSE= Ny 4603 40001 x12& 2,208
O1XAM 75,700 358 A 2,650
OZDNFE(AAAEIHN) 28,000& 602 1,680
OAlIZEM =Xt 2 5,000& 8002 4,000
OFHANEE=XY ot 200,000 =104 2,000
Odlold ZeH &Y 275,000& =51 1,375
OFxea AEMNME Z2M =8
10,000, 0003 *3%=* 12 3,600
OFAXNEEFURS ANS0IH 2 ESZHE 0l
= 22,000& x128 264
OXNSOIMAEAN M| 5,000 202 100
02 524t 2,664 2,664 0
O3g8=xd dIIR=s 200,000& =123 2,400




A REWEDY
MM NESHH WA
Sl FXAL BB U FHIM LY (FAT S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
O29 X2 CCTV CIgHUYAIE 2
22,000 x12& 264
203 SR F & 1,000 1,000 0
03 Al ZH =& 2= X H| 1,000 1,000 0
OFX& &S5g 1,000,000 1,000
303 A2 300 300 0
01 ZAZ 300 300 0
OFXNEYE B8 2 & 100, 000& *3H 300
307 Q12t0| ™ 365,476 340,476 25,000
05 QIZ2tE 2 365,476 340,476 25,000
OFAHNNEE =X E 2
730,952,000& *0.5 365,476
308 MXISHMSOIA 28,650 4,500 24,150
07 MIXSHHM2UAREES 3 4,500 4,500 0]
OZEFNEEAA S22
,500,000& 4,500
11 JIEtEE =2 24,150 0 24,150
oo Mizg= ASASE AlH A2
S 48,300,000& *50% 24,150
401 Al HI L E0HHI 80,000 80,000 0
01 Al& H| 80,000 80,000 0
OFNHXNEZ2(BY) =IE KA 22
60,000,000 60,000
OFAHNE2(2YG) =XE A7 &0 4X
2,000,000 1000 A 20,000
DS =AY =& 4,015 4,015 0
201 et 4,015 4,015 0
01 AP 22| H| 1,375 1,375 0
OdIold T2l EY 275,000 x53] 1,375
02 E2=2=24%H| 2,640 2,640 0
OIBZ=XAL (22H) CCTV QY A2
100, 000& =20 x12& 2,400
QOB =AY (22H) CCTV HIIR2
10,000 x2[H x12& 240
CoFEXNE HA 2,000,000 1,000,000 1,000,000
401 A& HI L 2 0HHI 2,000,000 1,000,000 1,000,000
01 A& H| 2,000,000 1,000,000 1,000,000
O2LFxE HE 2,000,000,000& 2,000,000
HAFXE 2 20,197 18,739 1,458
101 Q124 H| 19,717 18,219 1,498
04 JI2ZtHIZ2 2 NEES 19,717 18,219 1,498




2N
X ZH -
L= B

el

S¥H1
E5H XN
o o o
RHAl &

HH .ol (AH) - NSAY - By il 2
o= T o=y g2x 19,717
-Jl2 72,1603 x 18 «190 13,711
- =y 72,1603 x1H 50 3,608
- JEEREE S 17,318,400& *3.23% 560
-SUAZIEERES 17,318,400& *4.5% 780
-IEEERE3 17,318,400 *1.5% 260
MHEERE S 17,318,400& *0.9% 156
LoD QYEEREYZ 559,380& *7.38% 42
-SXEQE 300,000& »1H 300
-HEMAZ 300,000 »1H 300
201 YEr2 Y| 480 520 A 40
01 At 22l 480 520 A40
OR4d=F=XE 0F2F 23 244l
8,000 5 H 43| 32 480
HE=EX o= 292,884 282,532 10,352
101 1A 140,246 133,204 7,042
04 7|2t AsE> 140,246 133,204 7,042
O28=3x &5 2x 140,246
- 72,1603 x5 x250 90,200
-SEsg¢E 72,1603 x5 652 23,452
-—S0HLEEHRE = 113,652,000 *3.23% 3,671
-SUAIEERLE S 113,652,000 *4.5% 5,115
-IESEREZ 113,652,000& *1.5% 1,705
MHEHSEZ 113,652,000& *0.9% 1,023
-LOEDIRYEEEEZ 3,671,000 +7.38% 271
-SXEOE 300,000 »5H 1,500
-HEANES 300,000& *23| x5 3,000
-&&3 2,637,840& x2H 5,276
- &3 2,516, 1503 x2H 5,033
201 Let24d] 150,838 148,328 2,510
01 At 2teltl 52,600 52,160 440
OF&EXE= AEIA 130& *3,00000 x12& 4,680
OFXEM HE 2= 4002 x10,0000H 13 4,000
O&8xHs g2 & 100,000 *400H4 4,000
OFZ X2 AHREX oAX= FAN
110,000 »40 A 4,400
OMNEHESRFUAIMEXAN a8 2 EU
200,000& *4Z+33| 2,400
ONEHESRFUAIMEXNAN 2atE EY
200,000& x4Z *23| 1,600
OFZXSALE elstE 2 EU
200,000& *4Z+33| 2,400




BN DEHH
MM NESHH WA
Sl FEXAM BB U FHEN HY(ZXAET SHIH) (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O=Zgig =4 200,000 *23] 400
OFHISs DI (M) 30,000 208 A 600
od&aE A& 3,000 x504 150
OFXeEEs8 S22k 1,500 *60H 90
Ot J3&2= 20,000 1504 300
OFHIUNHYSQRIA(AMAUM S) 2= (===, 06
2 =2) 200,000 *10H *33| 6,000
OFHEXNHSQE(AZ2H S) St
50,000& 10 23| 1,000
OFFUSEQA(ANAN S) Lat=
100,000 « 10X 1,000
OFHEINHYSQIA(AM2UA S) 29
50,000 10 500
OFHEXNHSQ2A(AM2H S) 2A(atED], =&
1) 20,0002 x 10 x23| 400
OYAIXEE 2 222 100,000& »30H 3,000
OO0OrE , 0F2F =X HhEEE E2 24|
8,000 x5 x250! 10,000
OFEIIHYSE ADNEE 224
100, 000& 30l *23] 600
Odelxa Ax= 1,800,000& 1,800
O=2Y FEX X MYl 110,000 x4 3] 440
OLZHAIKR0 OHE E2 24|
J000 «30E 10 2,400
o=ssE T2eE Z2XNEH 220,000 x23| 440
02 2224 H| 98,238 96, 168 2,070
OelcE=3tneHAsE) U AE2
80,000& «30CHx12& 28,800
OCCTVAl =t Al OIHYAIEZ S 30,0002 20 *x12& 720
OF8d CCTV 2 EdMAER2
19,000 *x3CH x12& 684
OMESLHH A 8ER2
180 x1,300H 12 2,808
OCHUYRQUIA(DEIP) AMERZ
80,000 12 960
OSYHFEXN HEHE ANEE AIER2
68,500& *30 12 2,466
ORoSEIHe M2
30,000 «30CHx12& 10,800
ORolct=3t0 2t & SXH(REE, =,
AT LS A AE TS 900,000 x30CH 27,000
OgY =xAVY SN &2
300 «80,000AH 24,000
203 €2 F=&d| 1,000 1,000 0
03 AIEH =X H 2 F XY 1,000 1,000 0
OREXNETEE A2FX 1,000,000 1,000




2A NS
M DsHE A
Sl FXAL BB U FHIM LY (FAT S SREED
SN HH-S(BN) - MBAY - B il HlnE2
405 XHoHF S HI 800 0 800
01 XY 2 ZFH S| 800 0 800
OdioIM=Zele 04 800,000 = 1CH 800
X fIB WEHE 20 H=+ 229,351 237,796 A 8,445
101 @124 dl 27,990 36,435 A 8,445
4 DIt Z2XREES 27,990 36,435 A8,445
OF&X |tz Mgdels EX 27,990
-JlE= 72,1603 x 1 250 18,040
-REsd=E 72,1603 x 1«65 4,691
-—S0HLEEHRE = 22,730,400& *3.23% 735
-SUAIEERE S 22,730,400 x4.5% 1,023
-IEEERE3 22,730,400& x1.5% 341
MHEESE S 22,730,400& x0.9% 205
LI RYEEREES 734,200& x7.38% 55
-SXEOE 300,000& »1H 300
-HEANS 300,000& 1 +23| 600
-&&3 2,000,000& »1H 2,000
201 L2l 193,848 193,848 0
01 At 2t 2l 45,048 45,048 0
OdiolMZgH EY 275,000& x53] 1,375
OUtEiE JIXIAM 50,000 500 A 25,000
O1DXMN &8I 17& %736, 60004 12,523
ORstgs 2 === 1,000& 150 150
O1DXNN ESE 60& 100, 0000H 6,000
02 2=2ZHl 148,800 148,800 0
O&II=2 LXNM 282 2,100& *28,000H 58,800
OXdg= LAXNM 28& 300& *300,000A 90,000
303 Z& 3 7,513 7,513 0
01 L& 3 7,513 7,513 0
OFFXLEL BEZE MEH =+ ZAF 7,513
-HEE 1EX MEN Es ZAE
41,731,000& x1% 418
-HEE 2R A Be A
62,597,000 *3% 1,878
“HEE SER MEY Ha Ta3
104,328, 000& *5% 5,217
ST DB ALY H5T AX 2= 38,262 28,491 9,771
101 @14l 27,990 18,219 9,771
M4 JI2ZHZEXNSES 27,990 18,219 9,771
ONSA2HIUEE HMEXE BB AXNEX 27,990
-Jlg=s 72,1603 x 128 250 18,040




A REWEDY
M DsHE A
Sl FEXAM BB U FHEN HY(ZXAET SHIH) (ol @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-Sesgd=sgY 72,1603 x 1 x5 4,691
-SRALEEREE S 22,730,400& *3.23% 735
-SUAIEHRE S 22,730,400 x4.5% 1,023
-IEEERE3 22,730,400& x1.5% 341
MHEERE S 22,730,400& x0.9% 205
LAY EERES 734,200& +7.38% 55
-—=SXEQE 300,000 »1H 300
-HEAMNS 300,000 1 x23] 600
-EAS 2,000,000& x1H 2,000
201 ¢er24| 10,272 10,272 0
01 At 2t 2l 4,500 4,500 0
OEITZ HSH ¥X 455442
14,000,000& *30% 4,200
ogist dx 222 ¥ 915
300, 0002 10K 300
02 3322l 5,772 5,772 0
OSed=AAE RXE I 93,000& x12& 1,116
OHSEIIIANAE S E=Hl
338,000& 128 4,056
OANEE ZXAAH S8 23
50,000 1CH ~ 122 600
FEX2HE ANEE X & B 200,000 150,000 50,000
401 Al HIZ 2018 200,000 150,000 50,000
01 A& HI 200,000 150,000 50,000
EFR PEML L7 L 24
25,0002 =8,000m 200,000
sttt =S 3,980 3,980 0
201 Let24E] 3,480 3,480 0
01 At 2t 2l 3,480 3,480 0
Ost2XtsSx YL ZAH|
8,000 5&H »23| x6E 480
OSFSNSX BMCs 52 849
100,000& *300H 3,000
203 YR =2l 500 500 0
03 A Z=XH R =AY 500 500 0
OBSNEST SMET Hae =7
500,000& 500
OlolEI(=XtE SE3H) 6,073,733 7,016,264 A 942,531
801 Gl HI bl 6,073,733 7,016,264 A 942,531
01 BHoil bl bl 6,073,733 7,016,264 A 942,531
oolglsl 6,073,733,000& 6,073,733
WERLRELYS Bt L 2 (FHE SEIH) 27,496 20,602 6,894
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SA: REWED
HM: 2B (DESHEH D)
ol S (AT SN (FHT SBEA) (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- B XA 40,000 6 x 12 2,880
- HAEHIS 20,000& 128 x12& 2,880
P NIER=| 490,430 x6H 43| 11,771
~H A ZAH| 130,000 x6H x12& 9,360
=N 112,000& *87 . 5%*6H ~12& 7,056
-2 X0l 206,000& x87 .5%*6H ~12& 12,978
-2 AbH|
2,160,000 *84%*86%* 1/30%87 .5%*6A| 2t x6H 1,639
-Al2HRI =& 6,000 6 x50A| 2tx 12 21,600
-=20H=282EH=2 224,045,000& *4 . 5% 10,083
-g8ss 224,045,000 *1.5% 3,361
-MEEE 224,045,000& *0.9% 2,017
-ZOAHUEHEL2 224,045,000 *3.23% 7,237
“LOADIABEREZ 7,237,000 x7.38% 535
-CH ol g st 525,000 »6H 3,150
-g &3 6,000,000& »6H 36,000
03 2IAHALZZHE = 115,240 101,616 13,624
OFXeHER 115,240
23 2,200,000& x2H x12& 52,800
-d A 2 770,000 x2H 1,540
s 720
ol < Xt 40,000 x1H x12& 480
MAH =S 20,000& 1 x 128 240
-8 HZAH| 130,000& x2H «12& 3,120
-CH ol g S Hl 50,000& x2H x12& 1,200
|2 g 1,165,000 »2H 4 & 9,320
-HEFIHH| 1,300,000 x2H «2& 5,200
S PNE—E=AY  Ea = 115,760& 2 25 5,788
-AZ2t 2R 21,7003 x2H x25A| 2Hx 12& 13,020
-§e22Y 173,600 »2H 22 x12& 8,333
-88& 8 9,999
20AHUEEEEZ 96,413,000 *3.23% 3,115
20HAZEEHEEZ 96,413,000& *4.5% 4,339
-NEEEREZ 96,413,000& *1.5% 1,447
SAEEEREEZ2 96,413,000& *0.9% 868
LA YEEREZ
3,115,000& *7.38% 230
-d32s4 400,000 x2H x23| 1,600
- A H| 100,000& x2H «12& 2,400
-M=ls 2x2 30,000& »2H 60
A== 70,000& *2H 140
S(Usdd) 496,923




nsHI
Heeds(nsadA)
UWRAHXE(FXE SL3AH) (22 &d)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HEHHXES(=XE SH3IA) 496,923 487,518 9,405
HWEHAXE(=XHE SE3IH) 496,923 487,518 9,405
701 JIEtSI HENMES 496,923 487,518 9,405
01 JIEtl HEES 496,923 487,518 9,405
OFXEEL3H 21Hdl dF 496,923,000 496,923




